lunedi 24 febbraio 2020 11:06

S%sf'ans o{ Dt‘p Eans
LJ 's ConS) J&r Y \L SgST% o‘ (J«\‘(f -(LTAS

X)L

w (F) = :ﬁ(w‘}x({'), ldd'))
% = } (‘(’/ ‘)(('l’)/ \}d’))

He,rt,) _for /&m‘bl/\cnt} we \,v;“ Connder ﬂ'\& Ca g

o{‘ ’auTonomous Apti‘ms

|

——

) = (e, y0)
ﬁ Wb = g(x®),y®)

v

/

Th. CP :ror subh Ag'ﬂ'ems ’mal} be  Aakd

a {ol\o\./s -.

A k) - §(x),uh)
Ly d = g (xOy0)

x (k) =20 \ \f
k)= ys ;}(

3(




Thw: (3! Lecal)

Assime  thab  F = oY), =90y,
f9: DR —R. W

i) i,jff(]))

W) %% of {4 €80

There v(to/)(s./no) 3 sol  x :‘K(ﬂ . ] o, ﬁ( —>R

Caisbine 4 =y
cch T gl md ke extonded
Uncauamess: I} (g) and (% ) e sobl
9]( -H\e— /M&sl}.m S,{' ,

<(t. x (t) X\ =
(ﬁ)))‘ (%((H> = (‘})(

9;_\(1; Predolor ﬂ’ﬁfew\
x=x(t) # gazd(cs a b

gy s t

@ ‘-l(:)\ S T TV o |




(k) —x(H)

= 5“’“’“‘ rafe OF ?‘T X per um'l’o[

b x(t) L y
: /): — O/H(“
’QSSumF\'o\n,
m =) i - A X
< WAG) > "
@ = Ce >
I,L__)oi({-) 4-1(++'\)—1(i) y ] )\_o(y({-)
x(t) h x(H
—
=5 | X = (- «yb)h
({‘+k) -4
A&f ’a = — P + (SX(‘H
h-.o\[/ k“(]f‘l) ;I \O/
y®
a(H :) \,L}'(H _ ( ~pd px(%))aj(t)‘l
b fhe

Pu H_"“a’ E?h\l\r ‘H\;A‘{ uf'\g Wwe ArTive

Su STL'W\




if

qg
S\&STL‘W\

“a' . (- *?X)“a ( lnown)
*(to = Xo |
L“&“Moj
How do  we H')H’,Sthl- Hu belhavior o( /w|r X’U?

A gf

%m’ = (F-ey)x \, (70

Slote of The QlaSEh o (xth) ,’3(’0)
VY N A




(4 [

| I

D_e_{: Awn orbit s 9 g’ 04{ Fow'nl's

& (x(t), yt) - fe ) ﬁ[}
where (')(‘\a)‘. Jx 6L < @ 5ol . o[ the cjstm.
The o\rc‘eh\—ot-\‘i’r.\, 04( ah Ov\pl‘t ' hlx dve (ko»

(x(f),a(")) YunS oM ﬂ\c orLu'l' S f/’
shfiond

s fows 3 LE e casedt sufions
_ (% 0 =40y
G) = (jo) g " Sol = { o = 8(%“30)

OY‘L\B .(or onel it sols o wole L‘& Sl"nglck:hj
{ (%)}

f 1

= 3(&,!3) T‘ ,
\orlnf O.F (_;;gl’




St Se\r ore (‘1,\1) N (0,19) l N orbat oF tomsl

0“,1‘) fo'.
=) {0——&, S (“JL)Z(O}O)
EX /A r17= 7"3, = {(x,(a)
)
L,‘&’:%-L _:(a{x,la)
2a-b
(X/H)E(a,‘o) 5 ol = {O a - o l.c
¢
= (¢a) ae [R
D
X

E’S: - t(x-y) Here (xla)g(a,w 13
{ | st sol o
Y :‘3'+’x 0z a{a_L)e—
{ 0 = atb



\
(X WLe

S s'o';c = L(")

X \ 2 Jim

N (xyy(t) {x’ = ,((x,'g)




=

J
E

= (XIU)I F (%, ytx
fL"‘fﬂ) (% yt)

o ({-oial Cﬂh)

gu‘b?of& ﬁ\k to\-al cqvx bt 9 Se?kamlo‘k vars ﬁ:\

dy _
dx

o | (Aes)

Then La o of  varg
L(TZI) 0{(\] = alx)dx =

Jb(n)dg , Ja(x)&x +C

i

(Qﬁ‘h I X,'1,

{fL(}) d\a, - fa(x)tlx -‘;C] Vcrr'trmh'w;

Ex 1

‘Efbl -Cﬂy\ |

dy . @) X ———
Y

{ X’: ‘3 :_((x)j)sl' H} (0,0)
%f’ = X :g&,t\)

dy £64)

Hu. ok L\l‘
Fel f )

N

hV4







&




—_—

vV



